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WaLis the critical value for the appropriate test statistic/

a) 368
D) 3.58
c)4.15
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9. Tamara Hill, fund m

| anager of the Hill Value Fund, manages a portfolio of 250 common stocks.
Tamara is searching f

e or a 'low rfsk' ISsue to add to the portfolio, i.e., one thh a price ydndn(o

of the S&P 500 index. Moreover, she assumes an issue is not 'low risk’ until
demonstrated otherwise. Her staff reported that during the last nine quarters the price variance
for the S&P 500 index (Population 1) was 25, and for the last seven quarters the price variance
for XYC common (Population 2) was 8. Assume that stock prices are normally distributed in the
pPopulation. If @ = 0.05, what is the appropriate decision?

a) We have enough evidence to reject the null.
b) The difference between the two variances is statistically significant
c) We have enough evidence to claim that variances are not equal.

d) There is no significant difference between variances.

10. David Desreumaux, VP of Human Resources of American First Banks (AFB), is reviewing the

employee training programs of AFB banks. Based on a recent census of personnel, David knows
that the variance of teller training time in the Southeast region is 8, and he wonders if the
variance in the Southwest region is the same number. His staff randomly selected personnel files
for 15 tellers in the Southwest Region and determined that their mean training time was 25 hours
and that the standard deviation was 4 hours.. Assume that teller training time is normally

distributed. If a = 0.05, what is the appropriate test statistic and its formula?
a) t statistic

b) F statistic

¢) Z statistic

d) Chi-square statistic
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for XYC common (population 2) was B. Assume that stock prices are normally distributed {

popuiation. Ifa » 0.05. what is the appropriate test statistu '
Al statisti
D) F statistic
C) £ statistik

d) Chi-square statistic

ortfolio of 250 common stocks

i o one with a price variance
'low risk' until

6.Tamara Hill, fund manager of the Hill Value Fund. manages a p

Tamara is searching for a 'low risk' issue to add to the portfolio,
less than that of the S&P 500 index. Moreover, she assumes an issue is not
demonstrated otherwise. Her staff reported that during the last nine quarters the price variance
for the S&P 500 index (population 1) was 25, and for the last seven quarters the price variance
for XYC common (population 2) was 8. Assume that stock prices are normally distributed in the
population. If @ = 0.05, what are the degrees of freedom of the appropriate test statistic?

a)8and6
b)9and6

c)7and 5

d)9and 7

7 Tamara Hill, fund manager of the Hill Value Fund, manages a portfolio of 250 common stocks.

Tamara is searching for a 'low risk' issue to add to the portfolio, i.e., one with a price variance
less than that of the S&P 500 index. Moreover, she assiimes an issue is not ‘low risk’' until
demonstrated otherwise. Her staff reported that during the last nine quarters the price variance
for the S&P 500 index (population 1) was 25, and forthe last seven quarters the price variance
for XYC common (population 2) was 8. Assume that stock prices are normally distributed in the

population. If a = 0.05, what is the observed value for the appropriate test statistics?

a)3.13
b) 0.32
c)1.77
d) 9.77
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following ANOVA table

: 2w0urce of Variation 55 ! M5 '
Between Qroups A "
: : |
Within Groups 20177.67 1945.178
— - e 4 » )
Total 97280 17
S S

Using @ = 0.05, what is the value of “A” in the table?
a) 78102.33

b) 98102.33
¢) 58102.33

d) 68102.33

that operates 87 catalog Web sites on the Internet. Kevin
fonts, etc.) of a Web site may

histicated) and

4. BigShots, Inc. is a specialty e-tailer
Conn, Sales Director, feels that the style (color scheme, graphics,
affect its sales. He chooses three levels of design style (neon, old world and sop
randomly assigns six catalog Web sites to each design style. Analysis of Kevin's data yielded the

following ANOVA table.

Source of Variation |S5 df
— -a
Between Groups 2
ey = 1
Within Groups 29177.67| B 1945.178
1 P -
Total 97280 17 +

Using a = 0.05, what is the value of “B” in the table?
a)l7

b) 2

¢c) 15

d)1
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/ following ANOVA table
’
'/i' Source of Variation |SS df
/‘ Between Groups 2
f{ Within Groups 29177.67
- ! 44— -
Total 97280 1/

Using @ = 0.05, the observed F value is

a)4.50
b) 10.13
c) 6.99

d) 17.51

leb sites on the Internet Kevin
may

2. BigShots, Inc. is a specialty e-tailer that operates 87 catalog W
Conn, Sales Director, feels that the style (color scheme, graphics, fonts. etc.) of a Web site
affect its sales. He chooses three levels of design style (neon, old world and sophisticated) and
randomly assigns six catalog Web sites to each design style. Analysis of Kevin's data yielded the

following ANOVA table.

Source of Variation : df IMS 5
JF_ — ™ ’ .
Between Groups "
+ — : —
wWithin Groups 2917767} 11945, 178
Total J’w:au Tx ]

Using @ » 0.05, the appropriate decision s
3) dO not reject the null hypothesis J, = A Jy
D) reject the null hypothesis j, # s *J4

C) reject the null hypothesis u MY My

d) reject the null hypothesis u 0.
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8) Refer to Exhibit 12-

a. 0.5444

b, 300
-~/

(e 1.6615
d. 6.6615
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Cocflicients L rrony I Stat value
Intercept 4.3 O -0.35 0.7
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10) Refer to Fxhibit 13

s (regression results), the value of A S

A) 0. .34
I3) .55
C)0O.78

[172) 0. .19
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14) Refoer to Hxhibhae V32

A) 123
13) 18.2
' 11.8
D) =201

15) Refer to Exhibit 13-

A) 4.7
J3) 3.5
£. ) 2.9
1)) 7 4
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1 7Y Refer 10 Fxhibae v

A Y E==R.2Z9 + 0.A43
B) == =0.3 4+ Z.9x

C)y = 12.3 4 0.73x
D)y - 0.1 + 8.34x

18) Refer to Exhibit 13-2, the null hypothesis Ho: By = O

A) Cannot be rejected.
B) Will remain the same.
C) Will be accepted.

D) Will be rejected.

and \9 denominator AeE

19) The value of ¥ os with 8 numerator

A) 2.48
B) 4.58
C) 3.63
D) 1.96

| - variance Of the PO ~ulation s
20) The symbol ased for the vanance POY

A) O
B ©
C) ©
D)
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T
he statistical distribution that 1s used for testing the difference betwes
VATIANCOCES 18 L
\) Student’s 7 distribution
i3) standard normal distribution
C) binomual distribution
) F distribution
i) A manager is considering the purchase of new production equipment t
the plant. Suppose the equipment from two suppliers is extensively tested i

runs. A total of 20 runs are recorded on Supplier A's equipment, and anothe;
from Supplier B's equipment. The volume produced is recorded for each of th
results are summarized in the table below.

’ -

, ’ | . : | ' ‘
/ : Tyt | Supplier A _| _Supplier B
ppample means | 110 l 125

[pample standard deviation | {1 ey 15

[he value of the test statistic for determining if there is
for Supplier A and 2 is equal to:
A) 0.44
B)1.5

a difference in the population variances

C)225
D)0.67
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Y) Refer to Exhibit 12-2.
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Srandard
Coefficients Eryor s ¢ Stal_ 73"(}1/1'1}-
/.'i;t'.'; c';;' o ji g E 0. 35 0 7
X Variable | 043 015 F 001

10) Refer to Exhibit 13-2 (regression results), the valye of A Is.

.

4)0.34
B)0.55

()0 ﬁ".

)0 ]9

~d

A)l4

B) 2
() ]3
D) 16




A) IS
13) |

() 14
) 16

| 3) Refer to Exhibit ]13.2. the value ol I 1S5

A) 385.2
B)633.8
C)445.1
D)577.5

14) Refer to Exhibit 13-2, the value of E 1s:

A)12.3
B) 18.2
C)11.8
D) -10.1

15) Refer to Exhibit 13-2, the value of F is:

A)4.2
B)35
C)29

D) 74

16) Refer to Exhibit 13-2. the value of G
IS:

A)l3
B) 18
C) 16

D)5




Business Statistics
ECON3B0
Exam 3
Or. Esmaell Ebadi

Exhibit 10-13

in order 1o determine w hether :
vampanees, the follow ing data have been accumulate

Company 1

Company 2
n a0

s Ol
X1 = $10.80 X2 = $10.00
Oy = 2 00 Oy =51.50

. Referto Exhibit 10-13
“© 220
O. ul w2 >0
“ ul-n2<o
d il « 2 =0

'he null hypothesis for this test is

2. Refer to Exhibit 10-13. The point estimate of the diffe
.. 20

0.8

c. 0.50

d -20

rence between the means is

:r 2

3. Referto Exhibit 10-13
a. ].94
b. 1.645
C. 0.80
d 2.7

“.,/

. The test statistic has a value of

Exhibit 10-8
The following data hav

e been accumulated
between the hourly

lo determine Whether
wages of the two comp

Or not there is

a significant differe
anies.
Company A Company B
Sample size 80 60
Sample mean $16.75 $16.25
Population standard deviation $1.00 $0.95
4. Refer to Exhibit 10-8. A point estimate for the dj fference between the (WO sample means is
a. 20 \
b. 0.50
C. 025
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/ : « l \'”"” ' 'Q ““. ”“” h\l\“”“-ﬂg 1S 1O '\(- h-\!(q' ni ”!(* 0. s\lVlH’l(‘.\ll\ e level The criti nl nluei(s)
. rom the table 1s{are)

a 22.36

D. 2368

C. 3.00 and 24 /3
d S.62 and 26 | ]

I1. Referto Exhibit 11-5. The null hypothesis

4. should be rejected

b. should not be rejected

C. should be revised

d. None of these alternatives is correct.

Exhibit 11-6

Sample A Sample B
s* 40 96
n 16 26

We want to test the hypothesis that the population variances are equal.

12. Refer to Exhibit 11-6. The test statistic for this problem equals

a 0417
b. .843
o2 4
d 1.500

I3. Refer to Exhibit 11-6. At 95% confidence, the null hypothesis
a. should be rejected
b. should not be rejected
c. should be revised

d. None of these alternatives is correct.

14. Which of the following has an F distribution?

a. (n-1)S/o
b. S,/S;
¢c. (n-1)S,/S;
2 [a2
G S S

I5. The sampling distribution used when making inferences about a single population's variance 1S
a. an F distribution

b. a tdistribution

C. achi-square distribution
d. anormal distribution
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0. Refer to Exhibit 10-8. The null hypothesis (a 0.05)
a  should be relected
O should not be refected
O should be revised
4. None of these alternatives is comrect

Exhibit 111 ‘ .
| - | l vears. A s G students
Last year, the standard deviation of the ages of the students at UA was 1.8 years, A .mnpll« { : ‘«‘
: . ) . : ) ' . " 1l S48 . . " TN i
recently had a standard deviation of 2.1 years, We are interested in testing to see i there has been ¢
significant change in the standard deviation of the ages of the students at UA

Refer to Exhibit 11-1. The test statistic is

a 4408
b. 7908
C. 8167
d 324

8. Referto Exhibit 11-1.
a. should be rejected
b. should not be rejected
¢. should be revised
d. None of these alternatives 1S correct.

At 95% confidence, the null hypothesis

Exhibit 11-5

n=14 §=20 Hol@% < 500

Hi: o 2 500

9. Refer to Exhibit 11-5. The test statistic for this'problem equals
a. .63

b. 12.68

C. 13,33
d 13.66




Business Statistics
ECON3B80
Exam 3
Or. Esmaell Ebadi

Exhibit 10.13
in order to determine w hether on not there is

. " . a'!(."
caompanees, the follow g data have bee naccumul

" ..
Company | Company 2

n N0 n: = 60
X] = $10 80 X2 = $10.00
O =32.00 Gy =51.50

Refer to Exhibit 10-13. The null hypothesis for this (est 1s

b | ul 2= 0
. ul-w2>o0

“oul-w2<o
d ul-pu2=o

2. Referto Exhibit 10-13

The point estimate of the difference between the means 1S
a 20
b. 0.8
c. 050
d -20

-

3. Referto Exhibit 10-13. The [CST Statistic h

as a value of
a. ].96
b. 1.645
C. 0.80
d 27

Exhibit 10-8

The following data have been accumulated

to determine whethe
between the hourly wag

I or not the
es of the two companies.

Ie IS a significant difference

Company A Company B
Sample sjze 80 60
Sample mean 516.75 $16.25
Population Standard deviation $1.00 $0.95

- A point estimate for the dj fference between the tWO sampe means is
a. 20
b. 0.50
c. 025
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I1. Referto Exhibit 11-5. The null hypothesis

4. should be rejected

b. should not be rejected

C. should be revised

d. None of these alternatives is correct.

Exhibit 11-6

Sample A Sample B
s* 40 96
n 16 26

We want to test the hypothesis that the population variances are equal.

12. Refer to Exhibit 11-6. The test statistic for this problem equals

a 0417
b. .843
o2 4
d 1.500

I3. Refer to Exhibit 11-6. At 95% confidence, the null hypothesis
a. should be rejected
b. should not be rejected
c. should be revised

d. None of these alternatives is correct.

14. Which of the following has an F distribution?

a. (n-1)S/o
b. S,/S;
¢c. (n-1)S,/S;
2 [a2
G S S

I5. The sampling distribution used when making inferences about a single population's variance 1S
a. an F distribution

b. a tdistribution

C. achi-square distribution
d. anormal distribution
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0. Refer to Exhibit 10-8. The null hypothesis (a 0.05)
a  should be relected
O should not be refected
O should be revised
4. None of these alternatives is comrect

Exhibit 111 ‘ .
| - | l vears. A s G students
Last year, the standard deviation of the ages of the students at UA was 1.8 years, A .mnpll« { : ‘«‘
: . ) . : ) ' . " 1l S48 . . " TN i
recently had a standard deviation of 2.1 years, We are interested in testing to see i there has been ¢
significant change in the standard deviation of the ages of the students at UA

Refer to Exhibit 11-1. The test statistic is

a 4408
b. 7908
C. 8167
d 324

8. Referto Exhibit 11-1.
a. should be rejected
b. should not be rejected
¢. should be revised
d. None of these alternatives 1S correct.

At 95% confidence, the null hypothesis

Exhibit 11-5

n=14 §=20 Hol@% < 500

Hi: o 2 500

9. Refer to Exhibit 11-5. The test statistic for this'problem equals
a. .63

b. 12.68

C. 13,33
d 13.66
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I)Consider the following null and alternative hypotheses.
H,: uz67
H,: u<67

These hypotheses

a) indicate a one-tailed test with a rejection area in the right tail
b) indicate a one-tailed test with a rejection area in the left tail
(@ indicate a two-tailed test
d) are established incorrectly
¢) are not mutually exclusive

2)In a two-tailed hypothesis about a po

pulation mean with a sample size of 100,  is known. and
@ =0.10, the rejection region would be : '

az>1.65

b)z>1.28

C)z<-1.28 and z> 1.28
@)z <-1.65and z> 1.65
€)z<-233and z> 2.33

a)z>1.64

b)z> 1.96
(¢)z<-1.96 and z > 1.96
d)z<-1.64 and z > 1.64
€)z<-233 andz>2.33




: »r than or equal to
: HaS < s greater than or € e
5)Suppose you are testing the null hypothesis that a population ,'?’l‘"\"‘ ;;}:n 60. The sample size 1s
60, against the alternative hypothesis that the population mean is less

P s the
: g aviation is 16,
64 and a = .05. If the sample mean is 58 and the population standard de
observed z value is o

a) -l
b) I

c) -8
d) 8
e) 58

' ' own standard
6)In order to determine an interval for the mean of a population wut.h:n:::rmmed phe
deviation a sample of 61 item:s is selected. The mean of the sample is de
e number of degrees of freedom for reading the t value is

a8 2
e e b. 2:
. o J

c. 60
d. 61

2
3

iation i ‘ rmal or
it < /)Whenever the population standard deviation is unknown and the population has a.no7
= near-normal distribution, which distribution is used in developing an interval estimation:
a. standard distribution
b. zdistribution

C. alpha distribution
d. tdistribution

8)In developing an interval estimate, if the population standard deviation is unknown

a. 1t 1s impossible to develop an intery
b. the standard deviation IS arrived
C. the sample standard dev

d. it is assumed that the po

al estimate

at using the range
1ation can be used

pulation standard deviation 1s 1

9) The t value

a. 1.711
b. 2.064
C. 2492
d. 2.069

for a 95% confidence interval estimation with 24 degrees of freedom is

A
.
- -~
-'.
N . :
- - - ’
g A
- ~
~ -
o -
N . ~
™ .
. b‘\v
" X .
)
/ .
J - b .
- . \o -
. ey -~ - :
~ -
. i § . ,
e R
. - B . - Nt
- .
e ~
. - & -
Lot o
LI
.
.
‘L < .
-~ ¢ -~
- N > .
\ \I -
N -
: . .
X
.. ~
B -




TR AT R
;.\' y 4 \.‘.' . ' ’ 'u' A ..v.i‘ J
- oy n p y A - -
FUW SRR i f
- ‘&JJ: 01* s Loy <9 4
.%‘ *A. ’)" . "“ﬂ‘v""' J,' e :
i 3 i SR s
“ “‘b "." ‘{ .(~..J l'n‘l:.’f. e e
o o T 5 '
£ RGER P I PR RS
-~ ;“ (] " :k‘ v ! v "
T :
. <o. » » o
l.? M
.

a. becomes narrower
b. becomes wider

| ¢. does not change L5o3
% d. becomes 0.] 4
S . q 11)A sample of 225 elements from 2 Population with a standard deviation of 75 is selected. The

T | sample mean is 180. The 95% confidence Interval for the mean is?

5y a. 105.0 to 225.0
- b. 175.0to 185.0
i c. 100.0 to 200.0
; d. 170.2to 189.8

12)in a random sample of 144 observations, p = 0.6. The 95% confidence interval for P is

L3 a. 0.52100.68
Y | b. 0.144 to 0.200
c. 0.60 to 0.70
' d. 0.50to 0.70

13)A random sample of 1000 people was taken. Four hun
favored Candidate A. The 95%

Candidate A is

dred fifty of the people in the sample
confidence interval for the true proportion of people who favors

a. 0.419to0.481 T S

b. 0.40 to 0.50 *~ ey

c. 045t 0.55 .\;‘._:!..-\:\ ‘.;; “ N Sy

d. 1.6451.96 LRI
14)The critical value of t for a two-tail test with 6 degrees of freedom arnid a =.05 is “‘ e \‘-f- R S
a. 2.447 § ‘.‘ "' ' ‘ ‘ :
b. 1.943 ANt ; ‘
c. 2.365 R AR
d 1985 N RO

15)The fact that the sampling distribution of sample-means can be P e T R g

approximated by a normal RIS
probability distribution whenever the sample size is large is based on the AT ¥ N

a. central limit theorem W e A
b. fact that we have tables of areas for the normal distribution
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O ASSumption that the
d. None of these

10)A 2OPU
will be tak
a. 0

b. 0495
& K0S
d. 9505

o 5

N
il | Jﬁﬂj{.

POpulation has
. , B as a norm YRRSY :
altematives IS Correct ! distribution

a. asubset

b. asample

C. asmall population
d. aparameter

18)Suppose you are testing the null hypothesis that a population mean is less than or equal to
50, against the alternative hypothesis that the population mean is greater than 50. The sample
size is 25 and a =.05. If the sample mean is 46 and the population standard deviation is 8, what
is the observed z-value?
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19)The local swim team is considering offering a new semi-private class aimed at entry-level
swimmers but needs a minimum number of swimmers to sign up to be cost-effective. Last year’s
data showed that during 8 swim sessions, the average number of entry-level swimmers attending
was 15. Suppose the instructor wants to conduct a hypothesis test, and the alternative hypothesis
is "the population mean is not 15." If the sample size is 15, the standard deviation is known, and

a = 01, what is the critical value of 27

+2.58
+3.58
+1.65
+1.96
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